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 MCO-022  

MASTER OF COMMERCE (MCOM) 

Term-End Examination 

December, 2022 

 

MCO-022 : QUANTITATIVE ANALYSIS FOR 

MANAGERIAL APPLICATIONS 

Time : 3 hours Maximum Marks : 100   

Note :  Attempt any five questions. All questions carry 

equal marks.  

 

1. Describe the four states of decision environment 

in managerial applications. Which is the most 

prevalent state ? Give reasons with examples.  10+10 

2. Explain arithmetic mean along with its 

properties. Also explain the relationship among 

mean, mode and median with the help of a 

diagram.  5+15 

3. What do you understand by decision theory ? 

What are the key issues in decision theory ? 

Explain decision tree approach for managerial 

applications.  5+10+5 
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4. What do you understand by the term  

correlation ? Distinguish between different kinds 

of correlation with the help of scatter diagrams.  5+15 

5. What is the major difference between probability 

and non-probability sampling ? Briefly outline 

the sampling methods that are covered under 

probability and non-probability sampling.  5+15 

6. A machine is generally known to be producing 

20 percent defective items. A quality control 

inspector selects 5 items at random. Find the 

probability of getting (i) exactly 1 defective item 

(ii) at least 3 defective items.  20 

7. Calculate appropriate measure of skewness from 

the following data :  20 

Payment of Commission  No. of Salesmen  

1000 – 1200 7 

1200 – 1400 15 

1400 – 1600 18 

1600 – 1800 20 

1800 – 2000 25 

2000 – 2200 10 

2200 – 2400 5 
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8. Write short notes on any four of the  

following : 45=20 

(a) Cofactor of an element of matrix   

(b) Census and Sample   

(c) Standard Deviation and Standard Error   

(d) Criteria of optimism  

(e) Pilot testing and Pre-testing   

(f) Null hypothesis  



MCO-022 4 

 E_.gr.Amo.-022  

dm{UÁ` _| ñZmVH$moÎma Cnm{Y (E_.gr.Amo.E_.)  

gÌm§V narjm 

{Xgå~a,  2022 

 

E_.gr.Amo.-022 : à~§YH$s` AZwà`moJm| Ho$ {bE _mÌmË_H$ 
{díbofU  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ 
h¢ & 

 

1. à~§YH$s` AZwà`moJm| _| {ZU©̀  n`m©daU H$s Mma AdñWmAm| 

H$m dU©Z H$s{OE & gdm©{YH$ àM{bV AdñWm H$m¡Z-gr h¡ ? 

CXmhaUm| g{hV H$maU Xr{OE & 10+10 

2. g_m§Va _mÜ` H$mo BgHo$ JwUm| g{hV g_PmBE & {MÌ H$s 

ghm`Vm go _mÜ`, ~hþbH$ Am¡a _mpÜ`H$m Ho$ ~rM g§~§Y H$mo 

^r ñnîQ> H$s{OE & 5+15 

3. {ZU©` {gÕm§V go Amn Š`m g_PVo h¢ ? {ZU©` {gÕm§V _| 

à_wI _wÔo Š`m h¢ ? à~§YH$s` AZwà`moJm| Ho$ {bE {ZU©` d¥j 

Ñ{îQ>H$moU (decision tree approach) H$mo g_PmBE &  5+10+5 
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4. ghg§~§Y eãX go Amn Š`m g_PVo h¢ ? àH$sU© AmaoIm| H$s 
ghm`Vm go {d{^Þ àH$ma Ho$ ghg§~§Y _| A§Va ñnï>  
H$s{OE & 5+15 

5. àm{`H$Vm Am¡a µJ¡a-àm{`H$Vm à{VM`Z Ho$ ~rM à_wI A§Va 
Š`m h¡ ? àm{`H$Vm Am¡a µJ¡a-àm{`H$Vm à{VM`Z Ho$ A§VJ©V 
AmZo dmbr à{VM`Z {d{Y`m| H$mo g§jon _| aoIm§{H$V  
H$s{OE & 5+15 

6. EH$ _erZ H$mo Am_Vm¡a na 20 à{VeV XmofnyU© dñVwAm| H$m 
CËnmXZ H$aZo Ho$ {bE OmZm OmVm h¡ & EH$ JwUdÎmm {Z`§ÌU 
{ZarjH$ `mÑpÀN>H$ ê$n go 5 dñVwAm| H$m M`Z H$aVm h¡ & 
(i) R>rH$ 1 XmofnyU© dñVw (ii) H$_-go-H$_ 3 XmofnyU© dñVwE± 
àmßV hmoZo H$s àm{`H$Vm kmV H$s{OE &  20 

7. {ZåZ{b{IV Am±H$‹S>m| go d¡få` Ho$ Cn`wº$ _mn H$s JUZm 
H$s{OE :    20 

H$_reZ H$m ^wJVmZ  {dH«o$VmAm| H$s g§»`m  

1000 – 1200 7 

1200 – 1400 15 

1400 – 1600 18 

1600 – 1800 20 

1800 – 2000 25 

2000 – 2200 10 

2200 – 2400 5 
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8. {ZåZ{b{IV _| go {H$Ýht Mma  na g§{jßV {Q>ßn{U`m± 
{b{IE : 45=20 

(H$) _¡{Q´>Šg Ho$ EH$ VÎd H$m ghH$maH$   

(I) OZJUZm Am¡a Z_yZm  

(J) _mZH$ {dMbZ Am¡a _mZH$ Ìw{Q>  

(K) AmemdmX H$m _mZX§S> 

(L>) nmBbQ> narjU Ed§ nyd©-narjU  

(M) eyÝ` n[aH$ënZm   

 


